T WR 2mef
ol Dededy .

-

wildlifc sanctuary locaeq

: N . ayar
:\’]nch of thlc Tolln\\'mg metal melis even when | 4 Where is the Ramsag
‘epton a palm duc 1o jts low melting point? in Rajasthan?

S & paint: in Rajasthan: ‘ute ansver from (ha
Chc‘\o.\e l‘hc ™MOSt appropriate answer from the Choosc the muost ”/’/””pﬂ”m th
options given below: ) Jow:

(A)  Magnesium (B) Mercury options given below: i Ajmer
(E) Cnlcufm (D) Gallium (A) Churu ) . Dholpis
(E) _ Question not attempted (C) Bundi
ﬁ ﬁ ﬁq-lﬂ Wg m ﬁ’q : T = . “cmplcd
N E TR & : :s5tion nol a . )
mzﬂ;ﬁwr@:wxﬁﬁmmgﬂ . (F) OQue e TEREAA B FA fera
f" s | T TAAT L. -
Rt ﬂéwaffbmav\qwm?: b 1t et @ A TAHEE TG T,
(A Afify (B) 9T (earthy’ E"U ferfafaa [

AR b g0
(E)  afe we ( ©) = _ (D) dAE
Which of the following is the most ductile metal? i'ﬁ (E) » ag?rft?wa
Choose the masy appropriare answer from the T §
options given below: - . : :
(A)  Silver (B) Gold "li-!-l Which of the following statements is not correcy

N . . "
(C)  Copper (D) Aluminium i-u- about the Palash forest in Rajasthan?
(E) _ Question not attempted 9 Choose the most appropriate answer from the |
E‘, =i tmﬁidifaallim T tng%" . options given below:
(A) =Tt T (B) @mr S (A) These forests are spread in Alwar, Ajmer,
(C) dfar (D) UghafEm Sirohi, Udaipur, Pali and Chittorgarh
(E) 3vqafca vy regions.
3 Which of the following statements is INCOMTECt? e (B)  These forests are sub-types of tropical/dry
Choosc the most appropriate answer from the — deciduous forests.
options given below: —] (C) These forests are spread in those areas
(A)  Sodium and potassium are soft metals and . :
they can be easily cut with a knife. ‘_\f‘ where the surface is stony and hard.
(B) lodine is a non-metal but it is lustrous. e (D) These forests are found only in plateau
(C)  Mercury is a metal which is liquid at room J region of Rajasthan.
temperature. i
(D)  Graphiteisametal whichisabad conductor h () QSCS on not‘anf:mpicd . .
of electricity. pr USRI 4 99131 99 % €@ | frng § @ f-ar wa9
(E)  Question not attempted l_'] TE T R
frafafea 7 @ Fr-a1 9= e &2 o, ' =5 =
-8 HaT N ﬁ:rf%qﬁaaf‘amwﬁwaﬂ‘wwgmmgm
ﬁwﬁﬁﬂﬁmqﬁwﬁma@mgﬁ_ | (A) Tw . e st
(A) wifeam st diefiam Tf oige # oft 3= o ‘I.liltléi,aalgt. :
JTTETH @ ATE & HI T RAT 2 ferdtems it & &1
(B) TATEN UH uTq ¢ AT g Iuhreh gt (B) & T IR qofert @4 F
& Sl e B < e za YT )
(C) 9T U TH ug & % HHC H amme A 3
T & Ereft ) (©) 7€ T 37 &8 7 Oy § gt oo wAN T
(D) TR OF Tt urg & Y fgd B Femers Tutie )
acidd (D) & T USTEa™ 3 St wardy ey 3 arit o &
(E) 3gdfe@ wg (E) agaf@ g
OorQ-Xi2|] D ' 2
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Which of the following regions receives the
highest rainfall in Rajasthan?

h
C oosc l!'IL most appropriate answer from (he
options given below:

(A) Na‘gaur (B) p~Bikaner
(C) Rajsamand (D) A Churu
() Quuuon not attemp

mnﬁnnﬁm\:{-w\a- waifiss quf ww

ﬁt{%ﬁﬁm 3 & el Swm s g

(A) B) it
(C) TSHHE :D)) O
() Y3uia vy o

In Rajasthan on which river is the Gandhi Sagar
Dam located? ~

Choose the mosr appropriafe answer from the
options given below:

{A) Chambal (B) Aantha

(C) Saraswat (D) anas

(E) Qucg_;gn not attemple,

e\ q IR g ) g
Freteiea aseqi v g Wﬁmsﬁ%:’aﬁ
(A)Y Sad (B)

(C) wFdr (D) 99

(B) Figei@ss [y

According to the NationallResearch Centre for
Camels, in the camel health and management
calendar, which of the fgllpwing activitics is
proposed for the month of Aygust?

Choose the most appropr(atc answer from the |

options given below:

shelters and

(A) Soil management Dof
numbering of camels for identification.

(B) Hair trimming, vaccination and spray of
chemicals. r~

(C) Investigation of cgmel sample for
cndoparasucs irypangspme.

(D) Vaccination and nLc(sxcauon for killing
endoparasites.

E Question not atiemp 3

T S STTHUT 4 o « Ra?mmzraﬂt

ga-zm eyt § 3T W % Frafafas & &
< fafafy wetad # .

ﬁqﬁrﬁa‘d fqercdl § § waifis 39g®

(A) muqzrgamafmmﬁaaﬁt{émw
HEAiRAl

(B) FFTH, T TS & tmum?ﬂﬁ%ﬂ?ral

(C) FEimTETE ¥ ferg Sz & T T
SArex

(D) 3= hifad @ mﬁ’m e e 3T
JIgAT

(E) Sgaf@ A g

orQ-x121 [T}

9

[ Tamn

L

[p—

» . H 5
Which of the following are the internal parasit®

in farm animals?

a. Round-worms  b. Fleas

c. Tapcworm d. [~—Mites

c. Coccidia ! e

Choose the most ﬂﬂ[’rﬂ[l?dlt’ answer from

options given below: £

(A) candc only 'S

(B) a,c and ¢ only i

(C) b, canddonly o
:_' (D) a,banddonly

E Question not attemyited i
T..I gﬁ;ﬁ—rﬁaﬂ AT G FH a”-gzw F sTaft® trrerrar
y
= {"

et 2. A FH b. ,_x;ﬁrm
e d. pyForerT (TS

e. eI ]

ﬁqmﬁmwﬁmﬁ‘éwsvgﬁmﬂﬁ‘

(A) FadcITe

(B) FaeTa,c 3 e ~
©) Faab,c3rmd O
(D) Faea, b3Md CC‘D=
(E) SIuRaws o

The common drug for the trgtmem of coccidiosis

in cattle is:
Choose the most appropriate answer from the

: options given below: ’ o
(A) Dopsone O
wssd (B)  Chloroquine o
(C) Gentamycin o
U (D) Kanamycin &
(E) Qucsuon not attemp\c}j
afrufiy 2:
frfefas Rl i & watfires sugw sao e
(A) EA 1 I ”
. o -
(B) IR ‘™~
(C) SremTEfA N
(D)  FATATERE ™
(E) arqafawy g \
. [ Contd...




10 Mateh Listhwith Lt

List-d [RNNI
Cype of Bart Dmy) (Nmne ol Bt g
A Dhaman D L Whanagnne N
b Van Dy W Clat Vit
o RXTRITE R\ WL Nawana Pt
do Panki e VD daeahier bont
SRS REURERIERERRIKEATNUS

-1 SRR

RERS RO AT (Rt
a wRR Lo R
b s W Rag e D
o Xmyd w R Ran
do e e Quak i
Choase the mast appropriase answer o the
opuons piven helows
T R Rt A R T S an g
Y acIviball e~ d -1
BY  asULbN e\ da
) a- Lb<ilc-nidan
(D) a-IViba el d
() Question noy attempted \‘F\{ﬁﬂﬂ KK

12

Who travelled through the villages of Ryjastin
and started his series *Mein Deklta Chala G

™
based on the rurl life and society

o Ragasthan?
Choase the most appropriare answer thom the

options given below: ™

(A)  Jagjit Singh

(B)  Karmpur Chand Kulish
(©) Pt Vishwa Mohan Bhan
(D) Dr.P.K. Sethi

() Question not attempted

i Sta= an e g smalar doer A Ram

e T g famn

Pttt freea 8 @ woffivrs gogw an T
(A) i faw

M) =gl

(©) 9 Renwm g

(D) BN A

(B) Il wy

= ()
fermer T & il w v st vt ,\;Q_/ (&)

I 1040wl bevanw the Chlet Mlndber (.r”"
\\ ‘ ‘ "
Clretier Utiivn al Rafeedhans
opriafe nawer
Clisase the st appeepriate nawer oy, "

(R

pptions iven belows

G Bkl (1Y
(Y i bal Shsted ()
(R Questinn not attempted

L0400 N s QAT A ada ay
Nrafifia @ael ) A el aoe g ]
(AY 8y (v Aara

Wy dlener el (y gy
(Yt v

Sewan Ring
Shobhu Ry

e

E
)
ﬁ suecessive years e 1%, 8% and 5% per annum
et vespectively, then what will it amount (0?
T T 18000 M R y Ak A R s Ry s
Wil PR sl & ulR ey gt fer =
BT L0%, 8 30896 w0, o oy et e
T nw Rt R
(Y TN (W T 8020
@ o 1) 18,582
e (D) Quiestion not attempted / arqular wa

el
Nre What is the compound interest on 15,625 [or 9

monthsat LY perannum ¢

A i ol T 15000 s invested on compoun|
wterest B U vesrs, U the e of interest for theee

L
\
-
\

ompounded quarterly?

et USO8 W 160 wRYa o) 7 @) frmt s
£ 3t O nrer s R i o A fere frr
o nar
el =
— (A) T 08 (M T a1

NITYY (M Ty

Question not wttempted / srgufur ey
LONEO compoumid interest o vertuin swn inereases by
W28 i 2 yens, The rate of fnterest per annum
in:

R s qT g MRee Ry 2wt 10.28% wy
) e wi e s v

OorQ-Xi2|j D

(A\) 6N (8%
. ¢ L0
(G I A RS
W) Question not atteiptt / ;\r;]ﬂl\ﬂ““
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19

The .- . . .
monthly incomes of A and I3 arc in the ratio
13 . . )

> and their monthly expenses arc in the aho

-
3

. N RN »
If each saves T 800 per month, then whatas

i

the sum of their monthly incomes?

A 3B F mftw N9 w1 S 403 A ITE
TTEE &S =7 ST 312 %lm':avﬁa:mﬁﬁ( NU\
SR FaTa ., /1 359 Wi org @ 3o A S
(AY T 84000 (B T 96.000

(€Y T 4R000 (DY T 56.000

(EY  Question not attempted / Nj'ﬂﬁ?! g2

Which type of forests are regarded as most
valuable as far as the consenvation of forest and
wildlife resources are concerned?

Choose the most appropriate answer from the
options given below:

(A)
(B) General forests

Reserved forests

(C) Protecied forests
(D)
(E) Question not artempted

=5 ST W memummm
"I_T"'EWWHT’TW%"
mm::mﬁmmmw
(A) STied a4 (et ©Ie2)

(B) =M IA

(C) TEaEd (IZ3CE HIT2)

(D) FHTFEA T

(E) aiaaq

Unclassed forests

Sariska Wildlife Sanctuary is situated in:

(A) Kerala (B) Rajasthan

(C) West Bengal - (D) Assam

(E) Question not attempted

(A) FAH (B) erEdT
a7 §

(C) qfgmamad (D)

() IIaf@ua

orPQ-X12] D

=

. : ajasthan
50 Which physiographic regian of Raja

known as the ‘Hadoti Mlatean’?
Choose the maost approprialc answe
options given helow:

(A)  South-Eastern Plateau region
(BYy  Semi-Arid region

(C)  Aravalli regian

(D) Lastern Plain region

P (E)
fﬁmmﬁmﬁz.mxﬁmmm

;E;i%‘fﬁﬂﬁmﬂamﬁw‘ :mwma'a'tzm
(A) feor.gdf wardt AT

Question not attempted

Qv

(B) ondyreF e
E":j (C) e &
v={ (D) e &
LN () srgaRE A

The *Plain of Chhapan’ is located in which of the
. fOllOWING physiographic regions of Rajasthan?
Choose the miost appropriafe answer from the

options given below:

-

ot (M) Eastern Plain region
el (B) Western Desert region
p—

Aravalli region .
South-Eastern Plateau region
Question not attempted
o &7 ferr Terer & frefafen § @ e
ihitferes o frera

e freedi § & Raifie Iogm W
(A) i ARE AR

()  wfendt weee e

(C) e &

(D) efirr.qe ward &

(£)  rgaf@ 9

| Contd...
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Which of the Tollowing stafements is not correet
nbhout the desert soil in Rnjosthan?

Chooxe the maosg npprnprhm' nnswer from the
options given below:

(A)Y  Ulneksin cmhl\' md keeps more solinity.
(m
(@)
(1 This soil iy found in western Rajnsthan.
(1 Question nnqnnunplu!

e N el R A ey A frmfafoa AW
w311 e T 7

fr=fafaa ﬁm) X Q waifdes guges s T
(A) vl I :ﬁwﬂvnmvrnaﬁn:ﬁmh
(B3)  An I ® N%rrﬁrswmﬁ @ 3Ty &
TR ()

e =1 Ja 3 T TG ﬂ-n R |
Tt 21 aferdl ZrereaT 8 ek S @

AIAE w.r\;

Goitre is C’lll\cd duc to the deficiency of lG\-__

o

1 enn absgrly and hold the water mueh,
This soil ig displnced by winds,
.

(&
(1)

(E) =~

clement in our dlcl

Choosc the mml lyvprnprmrc answer [rom
options given beloyw:
(A) Calcium ()
(C) Iron ¢\ (D) lodinc
(E)  Question idtattempled s
mm@)mﬁmuwmzﬁm T
i
ﬁw%ﬁaaﬁmuawaﬁbmwgwmgﬁ.
(A) Sfsmam . (B)
() m@ ¢ (D) 5
(E) 3afEa s

Ci A
Which of the fdlldwing is not a biodegradgbley
waste material? C!l —

(B3) Sodium

e

Choose the mu.\q'{lppmprlmc answer from ahc |
—

(A) Excretn (3)  Lcaves of plant e

(C) Mecat C~ (D) Paint

frafafaa & @ FE.A1 :mm;uuf

Fd 7 ™l

(A) 8 B t)) i & afeat

< ww O =

options given belotv:

() Question (of attempted

Pt et & wraffires gwge 3w
(6) srqARa i

15

26

Which of the Tollowing nre Nt the possible
chuses ol ATDSY n

. Drinkins impure water from wells and

ponds —
b. By hupghie e infeciey person

c. By inicgilm needie or bigeyg transfusion

d. I'rom mlL ‘ted mother 1 baby in the womb
Choosc the Ilt_Jl appropriate answer from the

options given below:

(A) o, bandeonly (B)  canddonly

() banddodly (D) aandbonly

() Qucs(md’{ml attempted

ﬁmﬁqF@Hﬂq T UZH F TITa o a8 8
= aﬁmmmwm

b. ’Fi?ﬁﬁﬁ R TR ST

o, T TR <GS STHET TR 3T

o s g
3 fe e Feregegt o @ waffUre IUgW ST

(A) TaAa,GoMc (B) FHaercfd
(C) Wb(\;d (D) FaeTa3b
B) SIAfAgy

(g

Which of lh‘i:D following diseases is not a
communicable discase?
Choose the "{.0[3' appropriate answer from the

options given bejow:

(A) Cancer®M
(B) Tubcrc@{;}sis
©) Chickct{»p‘ox
(D) CholerdD
(E)  Question not attempted
Frafafas & Fata-ar @ O 76 ¥
Prferftaa frafedt & Fatfire soge s
; o S
(A FaT
O
(B) W (garenfi)
(©) faw dved
(D)t @
(E) STaf@wx

[ Contd...
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b Which or . . o . O F
!\:' '\ ot the following statements s incorrect | 29 The character which does not express jitself in 1
: \t ML genele vanations? -
Choose (b . . . £
WS¢ the mose appropriare answer from the generation is called-
Y 9
arhions ghven telow:

N Ou - . ) ‘
\ K!L tte distinet vanations are visible among (A) Allelomarph
the individual which rep e el .
(B \'adations ais sh e roduce asexually. (B)  Contrasting character
afations ansing during the process of g
T e . s . . )
(Y R ::\‘d“\“o“ van be inherited. (C)  Daminant character
Some amount of vanation s I‘T\‘dllCL‘d
5 }\ ¢ during asezual reproduction. (D) Recessive character
t he ‘“U‘mbcr ol successtul vanatons are R : J
manimized by the process of sexwal (E)  Question not attemplte
i aoproduction, , , .
\u‘\‘lOn not atempted BRI el | = 6 Hfuereh 81 B 2.
I TN ﬂ'uﬂﬂvmiﬁqﬁf‘iaﬁna 5
=T e R el o-
T (el S wsrf?ra‘;mmm (A) TS

ﬁal”

: '-~; ETT ""\;"m‘g*qj‘:ﬁg{mg (B) i%mfra'gm
By E== rzt““"r.- @:.\i—‘mm%&:ﬁm J' / T
STa Enl tﬂh‘\'\l 6} fﬁ (C) y’m
(C)  FT En=al FSTTE F99 = o o1 IH - (D) 3T T
E.n‘n Tl : sl
(D) t"m:r ~.-\-1—T‘>H;rql mwmw == () T
= SeT S SlE el 8l -
(E)  Fa=iea ¥ 4. .
O ) In which folk dance of Shekhawati and Kuchaman
28 Which of the following statements are correct
~hout Mendel s Monohybrid crosses? are the instruments dhol or drum used?
a. \lendel selected wild pea plant for hi
n\pnnmer:h pea p ! Choose the most appropriate answer from the
b. \Mendel srudied the inheritance of o options given below:
character at a time. -
c. Aendel's work was neglected for about 35 (A) Agni Dance
vears.
K
4. Mendel used the word factor for gene. 1_\-_": (B)  Ghudla Dance
Choose the most appropriate answer Trom the ek (C) Dandiya Dance

opuons given below: _
(A) a.canddonly (B) b and c only _ (D) Kachchhi Ghodi Dance
(Cy a.b and conly (D) b.c and d only
(E) Question not anempu.d _
Tea mq-—cfzr"t:rwn 3 e § Frefaf@a 7 @)

- =dA WE'T 't"’

2, FFEdd T T & forg =g 5l

oty 3 dra = T 4l

— (E) Question not attempted
TrETaTe I FEmH 3 fore A T4 H It AT A
ST T SENT B

b. mqrwnmgvraﬁrzmmﬁrm ﬁﬂ%ﬁgﬁmﬁﬁﬁﬁmmaﬁ;
spoqgA fEATdan - .
o, ed 7 @ T 35 U1 A SR T (n) AT
| — : (B) gEHTA
d mqmqﬁqmwmmﬁrm _
Caem L 5 €y Sifem
mﬁnmﬁmqamﬁmmmgﬁ: )
(A) FTd a, c 3 d (B) 'fFaFTb
(C) Fada, baftc (D) Fad b, ¢ 3Td (E) it v
() FAf@ud

orQ-xi12] [j 7 ‘ [ Contd...




31 Given below are two slatements:
Statement (1) In Rajasthan Pabuji is worshiped
as the God of Camel, * ,
Statement (11): Pnbti_ii IL&'I‘L‘lIilt:(l 1o be the [irst o
bring Camel to Mnr\\'nﬁ
In light of the above statements, choosc the most
appropriate answer  from the options given

below. O
(A)  Statement () is:€orrect but Statement (1)

is incorrect.
Statement (1) is\incorrccl but Statement

(B)
(1) is corrcg. Al

(C) Both Stalcmcnt@ and Statement (I) are
correct. :\s;

(D) Both Smt’emcnl\(ll and Statement (II) are
incorrect. M

(E)  Question not attenipted

= A Hya feemed: &
o (I): T T Y S & Faar F w9 A
EGIEZE GRS [~
F (11): TRATS § GALY Se AT 1 24 qregs it
2l O '
I T & e Y e feedt 7 9
Faifiras Iage IaU AN '
(A) (1) @€ & SR e (1) e 2
(B) A (I) T & e HU (1) TR R
(C) m(l)sﬁtmr?m)aﬁfu'a"r%l
(D) T (1) ST (IT) S e
(E) sgaf@sa [~

§Y

Rulers of the princcli—?ﬂatcs have treasured the
accounts of their valog?’! victories etc. written by

the chroniclers. What EE;: these accounts called?
Choose the most ap[Lr{yyrill!e answer from the
options given below: (D

32

(A) Dawavait (B) Vaat

(C) Khyat (_D) Vachnika

(E) Question not a pted

1 sfreraT g forg gre et # weltert T
21 57 geiel 1 391 FECGAT &

frafafag faaedt § ddatera 3ug SO
(A) eEdd Csy am

(C) wm Cy amfrm

(E) yqafta x4

OPQ-X12] 7]

While reciting the Phad of Pabuji, a musicz

a3
instrument is used called
Choose the most up}i?nprla!c answer from the
options given below: “:_\ |
(A) Ravanhattha (.(:ll) Lktara
(C) Jantar ¢(P)  Moochang
(E) Qucstion not attempted
STex 8, 4% FETA 2] y
(A) TrEvTEeAT [~(B) WFAm
(C) s C) =
b (@) oA O
o cd

A ol PR
3=, l’ ICO has setup a Jag%nese zone in an industrial
rk in: )

4 :\J Choose the most appropriate answer from the

_ ™ options given below:
(A) Jodhpur F(B) Dholpur
“'wd(C) Mount Abu Neemrana
(\

(E) Question not affempted
T G (RIICO) 3 ek ST & (), i
arh & wefie foram 2 N

mﬁﬁﬁ%ﬁfmmmaﬁ{
e (A) ST c(B) €
S(C) WS E (D) FmwwAr
'\.,H'(E) It W ~
T N

35" Which Festival of Raj@3than is celebrated on H‘h

January, on the dayCof Makarsankranti, every

N,
gy €217 2\\:
. pChoose the mrost apw)pria!e answer from the

Options given below: (D
(A) Ballon Festival (B)
(C) Kite Festival [\(_D)
(E)  Question not agempted
T/ Wi ad 14 S, qeT W fa T
T ATl R T wE

Rose Festival

Colour Festival

ﬁnﬁ«wmﬁmﬁk' g T
(A) TSI (B) IO 30
(C) WiMIHWa (D) ' TTIwa
(E) 3Tyt wx
8 | Contd...




A6 Which of the following is not an example of
physical change?
Choose the mrosr lippropriate answer from (he
oplions given lulng\
(AY  Cly anging lhc[mlmn ol the tips of hack-
saw blade np ).\‘Ilrung heating
(B)Y  Formation éi:‘!lil‘()\\'llish layer on the iron
gates of parkys!
(©) Cuxing a piece of paper in four sqiare
picces [~
(D) Making o p'\(;‘gc of chalk from chalk dust
(12)  Question ndidiempted
Fresferfia 5 & v 3y e e o e
B o
fr=fofas famedl 93 waffae svgw v
(A) UTGHR- mﬁasaagﬁ‘?ﬁ'ﬂﬁmﬁwm
WWT’TWI
(B) UIE &F Sie @S WL T A wd F:
m—t
(C)  HE F TRYHS FT AR TR g
gt
(D) =i YE § =1 1 T I
(E)  Saia 94 (~
QY]
37  Nature of magnesiom hydroxide is:

(1 N ¥
Choose the most approprmre answer from the
N

oplions given bclov.;

(A) Salty O (B) Neutral

(C) Acidic [~ (D) Basic

(E)  Question notattempted

HrrefifTeT EESTAETES i YA el &:
ﬁtzmﬁyafémmgmﬁ“wmmm:
(A) T () (B)  SRTEA

(C) =A™ g (D) wrfig

() ¥FafE 74

orQ-xi1z|] D

9

k2

"M ©

a layer of zinc on 1ron

38 The process of depositing
is called: .
(A)  Rusting (13)  Neutralisation
(C)  Crystallisdiion (D) Galvanisation
(1)  Question lfut.lucmplcd
<A1 qt Fofes o iR wrr A g
Fed 2 0N
(A) smemrn () IEHEERTT
(©) fpmelRun (D) AT
() ugﬂfmae'g

39 CAZRI, a rescarch institute in Rajasthan, is

working on the issuc of:
Choosce the mmhapproprm!e answer. from the

Fﬁ options given bclow

(A) Camel resecatch
bj B) Industrial research
(C)  Arid ecosysiem
(D)  Space reséarch
(E)  Question fiot attempted

et FTTT (CAZRI), U & U 7T gE4 e
' frg queETd wELE?
— Fraforfaa el § & aatfas I9gw Sat 34:

ﬁ (A) . 52 IITHAT
(B) mﬁﬁmm
i (©) :rva:mfawﬁiﬁaz
(D) fafee MATTEEH
™ (E) mﬁaqi\“

Choose a major issue which has always affected
the agricultural dj:velopmcm of Rajasthan -

ps Choose the most™appropriate answer from the
e qptions given below: .

o (A) lnsumcic:g'lfnnd'for agriculture

p== (B) Lack of {:i‘Htercst by entrepreneurs of
Rajasthan™

Unprcdlctaxlc and irregular rainfall

L

u (D) Scarcity 0 1etals and minerals
(E)  Question not attempted
ﬁmf‘at’@ﬂ LK ;qsrga R, 1 = Hife R
T H Y ﬁﬁawﬁaﬁm%_
fr=fafaa ﬁlﬁcik ¥ & walfae I9gw Im IO
(A) 3 ferg i i
(B)  TEIH F S Sifiredi & e < ey
(C) v a@t Fifrufird aut
(D) - u@aﬁ@ﬁaﬁzﬁzﬂﬂ
() srgfa v

[ Contd...




41 Govardlum Aseani, popularly known ns *Asrani’
is famous as a: )
Cln'm.\'c the most appropriate answer from 1he
options given below:
(AY  Actor (M) Maye
(€Y Musie Director (D) I'ul-iliciun
() Question not attempied
M3 e ) sgeE s am Q faem R,
v
Frafafes famet § @ watfre sogw s
(A ahnm ) ferem
(©) wimfdmas (D) wefmm
()  FEfmay
42 The Late Jagjit Singh was famous for which &ﬁlﬁq
of singing?
Choose the most appropriate answer l'romm
options eiven below: CI
(A) Tenore
(B)  Ghazals cﬁj
(C) Soprano
(D) Western style singing :
(E) Question not attempled p—
. oft st e Frw el 3 e ¥ fag vfeeda)
Frefafas fasedi § ¥ Aatfere 07 ST i
(A) &R
(B) TS m
(©) W F
(D) aiErt A T
(E) gaiawy
—]
43 When a ray of light incidents normally on a plane:
mirror, the angle of reflection is -
Choosc the most appropriate answer fronw
options given below: p——
(A)  90° ::::
(B)  Greater than 90° N
(cy 0. —
(D)  Greater than 0° but less thart 20° '_J
(E) Question not attempted
TS 24T 9T U W il
Sreft 2 1 T FI0T A BT
fr=fefiga fasedi 8 @ gaifas g ITCIA:
(A 907
(B) 90" ¥ firw
@ L0
(D) 0@ st g 90" T A
(B) @it a4
orQ-x12| D 10

44

45

Two plane mirrors mccl'ill right angles,. A figh
ray is incident on one mirror at an angle of 1.
What will be the angle of reflection fro:, &,
second planc mirror?
Choase the mas! up/rru/)riulc ansvier from "
n helov:

options give . ) .
71 B AR T3 ) o

) iy vt 7 A ZHE TS R 2T 7
(A) 90 (B) 1207
©) 307 (D) 0607

(I5)  Question not attempted / ATATA 57

Match List-I with List-11:

List-1 List-1]

Shape Type
a0 I Convex mirror
b. ) 11. Concave lens

c. ( I Convex lens
d. ) JV. Concave mirror
-1 3 wrg -1 7 e w4
TAl-1 TT-11
ameRf TR
a. 0 I IEd e
b. X 1. IEagad
c. D - o =
. ) V. 3=ae 75

Choose the most appropriate answer froo ©

options given below:

#r few mu faekedi § § waifires 3gge W

(A a-IV,b-1l,c-1I,d-1I1
(D)., a-lLEbsIlc-1d <o
(C) a-ILb-Ill,c-1V.d-1
(D) a-ULb-IV,c-1.d-11
(I£)  Question not attcmptcd/iﬂﬂﬁfmw
[ Contd~
A
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0 ATAL Sewa Center are Tocated in Rajasthan in/
at

Chowse e mast apprpriare answer fiom the
Ypions iven helow: L\l
D)
(L3

(S

The G Panchy \yu level
All the cvurts (\ l
The capital ot Ry apasthan

M Al major eities of Rajasthan

Y Question not atvihpted

UTRTF N 7w A e el o fevr

RS ININLEREESH R REINw 3ugw W ]"1
) TREEEIER (N

M Wm0

) RS R g

D) TR ¥ i T

STl o
() SFuha ey o

The Toll e Tclcph&?c_ number tor *Child
Helpline™

- . .
Choaase the mast eppropriate answer from the
Oplions wiven hdo“

TIEE SRR W

w s 3w om
\ccu:ﬁm) o R

F=iata st wéwgs@mwg?ﬁmgﬁ.
A\ 112 (BY! 1098
(11090 (DY 1093

(E)  Question not attempied / SRR IH

elebrated on

.. _— ~
The First National Spau% ?n_\' was ¢
A3

Choose the mosrt appmpgia!a answer from the

o

oprions given below:

(A 278 August 20244

(B)  31% August 202474

() 20% August 20249

(D) 23™ August 2024

(E)  Question not Aucrglplcd

WUH U HATE Fau T FATAT T )
ety faged 4 § npfm JUGH I GA:
(A)  27HTEA2024

(B)  3ISmE2024 (N

(C) 20302024 (Y

(D) 233mE 2024 O

(E)  TEfe@ ww

orQ-x12] (7]

1

11

uTTa ra

- Lo ~ part of human
49 Which of the following is not & pa
mule reproductive system?

Tesles

(A) -Vas deferens [((ll) . ‘

(€)Y Seminal vcw.lc (l)) Fallopian tubes

(1) Question not u(lclnp(ul

Preiferfirm o @ @y W?—.Tawa—qqaamm?ﬁ’-’f

(Y cf

() dTth dl y g

(©) T () e AT

(1) g s t~

¢ |
50 Which of the lollowinig is not a type of teeth in
s_' humans? s
Fs (A)  Incisors 2 ) Premolars
JC) Pylorus gi ) Canines

(E)  Question not attempted

Farefftere & & wm-am w3 a7l =7 0 FRR TET

[ ~ ’

(A)  Haw OBy s

() uR«Erd Cbo) @

(B)  3rala s g

gt

From the following {5y select the organs of the
human digestive systén:

a. Rectum b. Trachea
c. Oesophagus  {™d. Urinary bladder
b e Pharynx N
: Choose the most ap%%pnate answer from the
e OPliONS given below: ol
5—1 (A) a,condeonlyC(B) aandbonly
:]'l (C) b,dandeonlyl’(D) candd only
- (E)  Question not a(t—c‘h\p(ed
- ﬁw%@a@ﬁ%wng%wﬁa%&rﬁww

Hkm:

n RN ch.  fwam
¢ FET™ 04 T
¢. it o\
A< o o fevepeat o IUGH I
(A) aﬁﬂx\.umcd}) ':Fa'aa&ﬁ(b
(C) &aetb, d e (D) FacT e d
(E)  orqafa s
[ Contd...
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th
'~

orQ-x12] 7]

Who among the following was the first Governor
of Rajasthan?

Choose the maost appropriate answer (rom the
options given below:

(AY  Dr. Sampumanand

(1) Sardar Shri Hukum Singh

(C)  Shn Gurumukh Nihal Singh

(D) Raj Pramukh Sawai Shri Man Singh
(1) Question not attempied

fFreferf 3 Q oo % g a3 A
Frferfem faeedt 3 @ wartfires s 3o :
(A) . agia=

B)  FRR N Tgw fiw

(©)  *h o frere

(D) T W@ Faw o 9 fiw

(E) oguftaws

The number of women who have become Chiefl

Ministers of Rajasthantill datcason 1% Scptember

Crop grown in Rajasthan:

Sclect a Rabi
‘ iate answer from th
Choose the most appropriate

n below:

N
N

options give

(A) Maize

(C) Barley “cmp[cd
ionnot a

f:- Fﬁjaﬁmqufrmmw?

(B) HAEd

(D) AT

(3) Rice

(D) Bajra

TR
=il

:ﬂgﬂf‘r_aﬂ’ﬂ

56, In which phase were Alwar, Dholpur, Bharatpur
b, [akd Karauli merged into Greater Rajasthan?

(A)
(€)
(E)

1T

hoose the most appropriate answer from the

" “wdoptions given below:

2024: (A) Third (B) Fourth
Choose the mast appropriate answer from the #C) Fifth (D) Second
options given below: - .
E) Question not attempted
1ﬁmvov4a$uwngﬁm=ﬁqﬁw {
HE T F ST, 9, Waﬁvaﬁmmm
ﬁmﬁamﬁba;wgﬁmgm = lreTEaT % forer gom

(A) 3 (B 4 %mwanﬁfmsﬂgﬁwéz
< 1 D)y 2

. A) T Iqd
(E)  Question not attempted /N’jﬂﬂﬂ‘lm (A) . ® =

p—(C) =W (D) fadmm

Who among the following was appointed the
deputy Chief Minister of Rajasthan in December
2023?

Choosc the most appropriate answer from the
options given below:

(A) Bhajan Lal Sharma

(B) Prem Chand Bairwa

(C) Gajendra Singh Khimsar
(D) Rajyavardhan Singh Rathore
(E)  Question not attempted

Freafafas § @ fra feamax 2023 §, Uoea &
Tl & we o g forgn man an

frefaftaa faared 3 @ waffas sogs sacg:
(A) 3o & i

(B) g 9= dar

(C) o= fur famgax

(D) Tsgei+ fde e

(E) wraf@wg

12

:(E) sEaf@ws

rﬁﬂ—iWho among the following is given the credit for

fakmg Kishangarh style of painting to its zenith?

t f.?hoosc the most appropriate answer from the
p===Oplions given below:

A)

Uday Singh  (B) Nihal Chand
C) Mool Chand (D) Chandan Singh
(E)  Question not attempted
m%mﬂ?ﬁm‘tmméwéaﬁ
’}nﬁqﬁ‘éﬁﬁéﬁmm
mﬁmn&mmmﬁ:
W) TR @) frgea
€ Fau= (D) == fug
(E) raft wy
[ Contd...
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61

Who o has wntten “Raatan . Ri Phulwan’

wWnllavtion of Rajasthan tolk tales)

AN the mont eppropriare answer trom the

apaens anven helow:

GV Viandan Daetha ()Y Laxmi Kumari

(Y ShaLal (M Malchand Tiwan
B Q UENIon not atemptad

wTE D W AT RUSESHEERSI s RS s 0 T
E\";'%”‘W [SISIRIN RN ?\“

:_:1'2%7(5? [EESSSIRS Tt W&E“m"‘d‘(

(A BEwRE I a\tﬁm

(SR TESIS (D) e frar

(B) SIEIRE RN

How many numbers trom 430 to 600 are exactly

divisible by 120 15 and 207

AY Two (BY One
Y Four (DY Three
(E)  Question not are mpmd

0T ooo % (S s 12, 15 ¥R 20 ¥ gl
‘—\l\“- 6~

A= B
(S I (D) d=
E) ‘*—"'u\n T

Two years ago. the average age of AL B and C
was 23 years

2nd Cwas 23
(A

S vears. What is the present age of A?
(B) 14 years

(€)Y 16 years (D) 20 vears:

(B Qut\‘non not attempted

7% T AL B W C ¥ 3twa H1g 24 99 ol 7 |
= TES B FR C & wa g 25 s & o A
Tttt IR —’T%’ :

23 vears

(A) 2499 (B) 145§
(C) 16a% (D) 2099
(E) FEAd TG E

The hormone that regulates the blood sugar level
in our body is:

(A) Thytoxin (B) Testosteron
(C) Adrenalin (D) Insulin
(E) Question not attermpted

T YT F T w0 & w1 e fafia s aren
TR & -

(A) uElfEE (B) IR
(C) M (D) =i
(E) uiEa =

OPQ-X12] D

. - -
7 years ago, the avernge age of B

Gurukul

62

1’

) aram

2

9

13

. o tissLes ares
The examples ot connechive tissue

a. Blood b. Bone

¢ pritlw!ium d. Curdine muscle

Choose the most approprinte answer from the

options given below:

(A n, b and d only

(3)  b.eand donly

(C) aandbonly

(D) o bandconly

(l‘:') Question not attempted

b. Afe
vfﬁg d. gl
f e Frredt o & wartfire IugT AU

(A) Sacta, baRd

(B) b, c 3N d

(C) FaAa3Rb

(D) FaFa. b3A’Rc

(E) STui@ wH

- What is the percentage of oxygen and carbon

dioxide in air inhaled by a human being?
Choose the mast appropriate answer from the

oplions given below:

(A) 1%%6 and 0.04% mspeclwely

(B) 0.04%and 21% respecuvely

(C)  16.4% and 4.4% respectively
(D) 4.4% and 16.4% respectively
(E)  Question not attempted

WS TR SRR A A g e ofix
FT SFATRASS 1 WioTa T4 e
Frafafaa famedt & & waffaes sogw swogt

(A)  TREEI: 2196 3 0.04%
(B)  THEET: 0.04% 3T 21%
(C) THRIT: 16.4% HT44%
(D)  EHNT: 4.4% AN 16.4%
(E)  guft v

[ Contd...
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65

66

oPQ-Xe2] [7] w

Support money for big cattle (blg govansh) under,
cattle mamt!\mcd in cow shelters registercd by
the state go Cmmcnl is enhanced from October
2024 as- =

Choose the inbst appropriate answer from the
options givcr}})clmv:

(A) T 62/day (B) R 68/day

(©) T 44/day (D) X S4/day

(E) Qucsu’on not attempted

TS TR m{mﬁgm T & wunfe wivea %
T H 37T 2024 F P gfig o i 2- .
freferfiae R 1 9 waffires Juges I T

(A) ?Gvnt‘] (B) ?58/&3
(C©) T43 I3 (D)

T 54 /fa
(E) Tgufess

"'L"Z'Lf]"]

L4l L4118 EI..L
)

The cost of food thali for poor and needy undef™]
‘Shree Ann!a\‘{xma Rasoi Yojana®, a welf'arm
scheme of RE_];EESU'I:{II (as on September, 2024) sy
Choose the {n;osr appropriate answer from th
options givefiielow:

m@ﬁmm'-mmh

DIECIN %:ﬂ%nﬂaamﬁﬁxﬁmﬁz@_

& Fima (Fimat 2024 ¥ 377am) e &2 o

ﬁ%&aﬁmﬁ#mﬂwmm?

A) T g @) T12

€ X8 g D) T2

(E)  Questiod not attempted / 37Fafa st
(¥

Which of 1hcc%é)llowing is not an alloy?

Choose the most appropriate answer from fthe

options given-below:

(A) BronzZ:} (B) Brass

(C) Stmm@ steel (D) Cadmium

(E) Questjo 9 not attempted

Frefafeaa & pa-dt firg arg 3¢ 2

Prafafad famedt & & waffis sogm swogh,

(A) Fr@m  (B) dwa e

(C) =aemew (D) Fefimy

(E) gaftawa

Ll.

‘ }]l‘l"llk
Tl

. (D)

Match List-1 with List-1I:

Listh List-I1
N Reﬂcqt;(’“ from 1. Plane mirror
a poligg&d or
chmygurf’lc"

b. The tcrm used for I Concave mirro;
' o

an upright image

of an object
c. The l‘ili]:for which L

al\\'ap{oms

same r.uyzcd virtual

and Imcrlly

inv cn.ed image
& Mirordsedin V.

" solar Eobker

and torch
H‘vﬁ-lwa-éﬁl 3 Ty fireT F:
w‘b T-11

a. Ceh IHaR I I. AHaT U9

Regular reflectioy

Erect

\

aifererh mé

AT =g

JTEr ST
‘;rﬁﬁnz;\}m%

d. Fﬁmmaﬂt v.
21 o gy fopay
I Fven 2d

Choose lhc(‘\

FE (¥

10St appropriate answer from th
options gnerubclo“

‘ﬁﬁﬁwmttﬁmﬁ}xmmaﬁ

(A) a-1b-1v.e-14-11
(B) a-n ~Le-IV,d-1
() a-Lb-IVc-NI,d-11
a-Ihb-Mlc-1,d-1v
Question not attempted / Nﬁﬂf{ﬂg’:f
| Contd..
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of  Dolly, the first cloned sheep died in:
Choose the mosr appropriate answer from (he
options given below:
RN GRS EREE S8 T
Pt framedl 8 3 waifos IUYH IT
\) 2008
B) 2007
() 2om
(D) 2003
{E)  Question nat attempted / T w2
69  Animals whiely lay eges are called:
Choose the most appropriate answer {rom the
opions given below:
(A)  Ovoviparous animals
(B)  Invitro fertilised animals
(€©)  Viviparous animals
(D)  Oviparous animals
(E)  Question not attempted
Preifefian femedi 3 & warlfares sagw souah:
(A)  SETULS g
(B) wrt frafaa sig
(C) WSl g
(D) 3EHTH SIg
(E) SIIaitaw"
70 Identify the oviparous animai.
(A) Dog
(B) Human beings
(C) Butterfly
(D) Cow .
(E)  Question not attempted .
SISy Siq ol TE=H
(A)  Fl
(B) #IA
(©) fomeft
(D) A
(E) i 99
0PQ-X12] D

Gurukal Tara

cs through its skin:

71 Name the animal who breath m the

. answer fro
Choose the maost appropriafc ans

options given below:

(A) - Elephant (3 camel

(C) Monkey n) Farthworm

() Question not attempted

magcﬁlamam“mmm;rﬂﬂmﬂﬂm?‘
reifetfes foe it 4 rarfféres 39g 707 37
(A) TTfl (B) ¥

(C) =< (D) FLAT

I 3 94
. ® stafe

';g The price of a commodity decreascd by 10%
thich cnabled a shopkeeper to purchase 8 kg
more of it for Rs. 3600. Find the reduced price
per kg of the commodity.
forly @g 1 o & 10% F FH EF T T
THE 39 g i 8 o eafirer AT A 3600 H
@l w1l FHd FH € F a1 g 61 g

ra Fa Hifg
(Ay T4s (B) T42
(C) 50 (D) T48

(E) "Question not attempted / Hﬂﬂﬁﬁ'ﬂﬁ

When 36 is added to 60% of a number, we get the
same number. Then that number is:
e forelt T 3 60% T 36 ST STar R, /1 v 9wy

T WY BT 81 7 9% g 8
(A) 90 (B) 100
<€) 75 (D) 80

(E)  Question not attempled / ST w21

A student has to score 40% marks to pass in an
examination. He gets 30 marks and failed by 20
marks. What are the maximum marks of the
examination?

T T I e § Ixivl 8 o fow 40% ofs wmw
T 8138 30 31 Frerd & ST TE 20 31 F svpefing
B Ter #, 7Y qlve o SvRreRan i T
(A)=N125 (B) 140

(C) 90 (D) 100

(E) " Question not attempted / JTARA w3z

15 [ Contad...
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OPQ-X12] D

76 Which of the following statements is correct

XE

about the alluvial sail in Rajasthan?
Choosnxc moxt appropriate¢ answer from the

optionggiven below:
1'h|< soil conlains cnough quantity of

(A)
DI\IOL-C"

(B)  The amount of potash and lime is found
fesk in this soil.

(C)  This is found only in northern districts of
[&ajasthan.

(D) @lrs soil is very useful for the production

ofdvheat, mustard, cotton and tobacco.;

(E) SJunon not atlempted 5—1
ey i s e P 3 g
FT FER?
Pt s & warfires e S0 T
*gj\gaﬁ TR w7 3 AR T AT
T H dier 3R AT (<) A
&relt & :
N\

(B)

S .
T&|7TE, T, FA R daE &

(D)
fort =g awadt &

(E) JFqaf@wa y—
r\ —l
N —

Which§s™ot a type of bush found in Rajasthan? |

o 3
Choos% ¢ most appropriate answer from t

optionggjven below:

) [iha (B) Ama -
(C) }% (D) Dhaman .H]
(E) Question not attempted
27 ot o T ST ATt TS & T WA
o

AN .
ﬁw%mﬁmﬁﬁﬁwﬁ“mmmgiz
A) T (B) S
(C) TU (D) °HT
(E) afay ™

16

24D

77

79

LY
(C)

Gight friends collected money to hclp floog
victims. Six of them brought ¥ 30({ cach, The

s«.venlh pcrson brought T 100 morc than (ke

nvcmgc of cight persons and the cighth person
[

13)550. What is the lom‘l sum brought by /

brought
them? ©° ] " !
3mmﬁmﬂ%?ﬁ2ﬁm%%{vmmm

mam? Jooaﬁwﬁﬁmnmmﬁsm ’
wﬁm%aﬁmﬂ? 100 ik T 3 St

=feR {~550aml§aﬁﬁﬁﬁnﬁrm£trr§g
?"7'800 (B) 2400

? 3400 (D) T 2500

(E) Qtncsuon not attempted / H@’ﬁﬁﬁwa

~J

8(

A famlly)consxsls of grandparents, parents and

three grandchildren. The average age of the two

grandparcnts is 66 years and that of the parents is

34 years Ifthe average age of the grandchildrens .

is 8 years] then what is the average age (in years) :-

of the s?{;:cn members of the family?

e e e 2, e R e R - fet
#1212 Y ofver a1y 66 7 & i wraT-frar

aﬁmmmaﬁ%mﬁqﬁrtﬁﬁm‘rzﬁaﬁwms
ELEd ﬂm%mmﬁaﬂvﬁm@mﬁ)
F;TE? O

~,
(A) 3(1_‘! (B) 30
€ 33y (D) 32
(E) %%!:snon not attempted / JTAT TH

The scl!ivng price of 12 apples is equal to the cost
price ofr-_l)k apples. The profit percentage is:
12 9t g Fersmer e 15 el 3 7o e 6 TR

")r\("
(A) = \f’ (B) 27%
<€ 15 (D) 20%
(E)  Question not attempted / S¥aft T4

[ Contd...
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A oumihee NECHIES
mrher oD veilad wonen dancers halanse up to
SOV O T T T < N H
w1t o tine Driss pots on their head. This dance
Sam N Cﬁ‘li\i: HAREN
= Sk
uhhaw the maost k{"‘h’“ﬂd’k‘ answer trom the

apmons aiven helow:
AN

) Tewdh Tah By, \‘Bh\\\\ui
WY Ghaamar (DY Kalbelia

Y Question not attemptd

8 "“"!'- — S o

ARG 'xlbczl\:;"_:?F"q'tﬂam:ﬁW
ESIRIRN ncm TSR T Fl ?1 = & 9R 9t

:.‘...q —_— = = ~
WA\) SRS s B - \;51?
~ N
Y ' (D) ?w‘?ﬂﬁ'ﬁ%\’m
(E)  SToRE W N
N

\hich dance is performed' by the Bheels in
Newar?

Choase the maost appropriate answer from the
options given below: E}i

A\ Bhawzai Dance (B) ;§11M1xxar Dance
) Gawn Dance (D) O\ Xalbeliya Dance

(E)  Question not attempied

“znuﬁm%amﬁquvhwam%’ -

Eerataa fawedt Iy gaifae Iugw S g
() EETE (B) [\q\qtq‘a:
(©) TEATH (D) ﬁﬁ-?raaﬁqmaﬂ -
(E) STaia = o) '
N
o !
“Tamasha® is the famous 39\5“ theatre of which |
place of Rajasthan? !,:‘\,!

Choose the most approprigle ANSWer from the

options given below:
(A) Kota (B) [™Bikaner
(C) Jaipur f’ ‘Ud.upur

(E) Question not uuunpud
e e g qEEr e 3 o w

ﬁqﬁff@ﬁﬁmﬂﬁﬁwﬁ%mmgﬁ
(A) ST () O\t
(€) AR (D)

(£)  IFafa wH

0PQ-X12 | D

Ta ran a

.Gi

17

83

KUI

&l Ll

Where is the Jawai Dam situat

Choose the maost appropria

options given below:{ !

According to the ccnsus o
-""- Jlollomnu districts had lhe highest populatlon in

R'“ Ihlh'\n 7 ‘;«,

ed in Rajasthan?

fe answer from the

(\) Kota i.(m) Sikar
(Cy Pali :(,D) Jaipur
[ Question not att(;nwptcd
m@muaaﬁ‘muamfhm%ﬁ
ﬁq%f@ﬁﬁmnamfmmwgmmaﬁr
(A) T (B) W
() el tpy S
(5) i a (i

-]

f 2011 which of the

o,

Choose the most appropriate answer from the

options £ given below:i~

(A) Jaipur » "(B) Pali
(C) Bikaner ”(D) Sikar
) Question not amzmpted
’ousﬁm%aﬁmmﬂmﬁwn%m
ﬁéﬁwwva’iﬁ@%?
ﬁq%%ﬁﬁaﬁﬁiﬁﬁwaff&awg?ﬁmgﬁ
(A) AR 1~(B) qrait
() =R o(D) ¥R
(E) IERaIH }—3

W

N

In whichoftl

e follow n\g years was the Rajasthan

State Road Tmn\pg:tg Corporation (RSRTC)
established?
Choose the most appropriate ansWer from the

options given bc\ox\':(:\l

frfafaa i:itﬁmaﬁmn S R ECIRC
firm (RSRTC) a?rwxwg oft? y
Frfafia e 4 ﬁ\wfﬁ?w IUG I

(E)

1962 L, y 1964
1955 (D) 1960
Question not attempted / Sﬂﬁﬁﬁ a
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§  Which ol the following fuctors do not determine
8 ; .

i *Rajasthan?
the climate of Rajasth /

86 In Rajasthan, Bisalpur project is located in which
t appropriate answer from the

of the following arcas? .
\ Choose the mos
Choosc the most appropriare answer from the . /
options given below: .
tions given below: . | | /
N ‘ (A)  Wind dircction
aisalmer B Udaipur o
o o ! (B)y  Distance from the sea
ikane | Tonk o o
oo ) " (C) Latitudinal position
(E)  Question not attempied o) L(mgi“u"ml oition

e 3 ferger wRater fraferfaa § @ faw & (E)  Question not atiempted
% e | Erefrfore # 8T FTR TTEaT T ST

9 g et § & wad guges IO L Preffrer =reff spTan?

(A) VTR - (B) TR . Freferfie Rrepedt 3 @ wafferes Iuges 391 4

(©) swN (D) 3w (A TR (B) wREEd

(E) oaiawsd Cﬁ (C) oz feafe (D) ZmaiE Fafa
(E) - gafed 94 ’

87  Which of the foXowing National Highways pass
ﬁ Which dialect is spoken in the areas of Chur,

through Rajasthan state?
. v Jhunjhunu, Hanumangarh, Suratgarh  and
Choase the most appropriate answer from the
m Ganganagar?

options given below:

& . Choose the most appropriate answer from the
(A) National Highway no. 2 options given below:
(B) National Highway no. 37 (A) Mewati -
(C) National Highway no. 11 et (B)  Wagadi

(C) Malvi
: (D)  Shekhawati
s—‘ (E) Question not attempted
ﬁnﬁwﬁaaﬁamﬁﬁﬁwﬁ‘mmmgﬁ: :‘j aﬁ‘m-rﬁa’rr—ﬁaﬁaﬁj@%? 5
Frefaftaa et ¥ & wratfive sogm s -

(D) National Highway no. 13

(E)  Question not attempted

Pr=fates & & #=a1 vdg et gee Tsr R

(A) T st g - 2 ’
(B) U wromnt & ) (
0 | - 37
- (B) . arTgh d
(C) Wiy e G - &
) ' () W l

72

E) st sa (B)  orefer wa
orQ-xiz] 7] 18




o Reossen, "Rkt s omade duning the
[ommddte Palah eaunght) etore which
in eyt : i~
S "

N
COOS 0 Frany e ysTese sy ttom the
COIOTS S Nlow pY
1
v Dhwal N
U
=y '.\ A e X
Y . AN \ N {\J
WY Dt -
Oy Rol
1 \ STO ot arempiad
e A R A v e ER Wrﬂ
—= B
= (T S R F IS SUEE SW g
-~ - oY
Ay & N
(R SEE ™
= o
L St ]
DY E=
D S -
BV STEAS = x|
-
€] Whizk of the followitg pair of poultry bird and
ﬁg
IS chrEslensac s ea‘-.'r.ﬂ\ matched?
Crooe & most cpp{npnau‘ answer from the
opzans gven belowzD
(4) CARI SONALI - Commervial Brown Egg
L2ving Chicken~ A
1
(8) CARIBRO VAISHAL - Dual Purpose
- o
Chickes ~
(C) CARI DEBENDRA - Commercial White
-
Ecg Layving Chicken
. * ' -
(D) CARI PRIYA ~Dual Purpose Chicken
(E) sesuon not aa:c,mplcd

T=EGE s ES v;33-2 QT ot 39 favmyar
E2 -\l-.,l.'f“"l"ll"\a ??J
F:?mm:waﬁa;wgmmgﬁ

2 - = 238 i -
&1 gETet - 5 mugmamgﬁﬁ

(A) :
(B) &=z faeme - z%zmmgﬁuf

(C) =135=- Eﬁﬁ?mmamgﬁﬁ
(D) & firar - Sreér e areh gfifal

(E) Siyaia ¥

OPQ-X12] [T]

) o y bird nnd
Which of the Tollowing pair o poulte

“‘
) aly Qied?
is clumwlcrislics it correctly matehe
| 3 wer from the
Chowse the m moxt lppmprhm' answer fron
optivns piven l\lm( |
ol
(\y e AR - lln[\rmul Indigenous [Fov
T - [For hot nnd
(1 CARIBRO Nl;l Y UNJAY
humid region
() CARI SHYAMA - lmpmvcd Indigenous
el
|:(\\\'l C:’ .
=—ll)) UPKARI - Improved Indigenous Fowl
d

ﬁ E)  Question notajic mpted

C&maam@wmmm ferdirat <6

Tk e v T o T 2
f—ﬁﬂ%&dﬂﬁmﬁwﬁhmml“
"'.j\) %mﬁzqﬁ_gm

5-—-(13) “‘ﬁa’fﬂm 'rrriaﬂtsn'sféh’%fﬁﬁ
u.*-J(C) 0w - mmgrﬁ

HD) 'wm-m%smgfﬁ

__.ps) HAIT I

,_il

[\
9\,‘\\'}uch of the followy 'l‘IL IS a graz
—iR.\J'blhm" C J|
p— o

; Fhoo\; the most apgmpnalc answer from the

t/shepherd of

ppuons given bw.lox\._i

=
i P=(A) Raikas = (B) Guyjar Bakarwals
(C) Gaddi f~ (D) Dhangars

(E) Question nog(cmptcd
ﬁmfaﬁaaﬁ%aﬁ:ﬂfum'ﬂm

(A) T g(m WW
© ™ (D) W
(B) Srefa wx

19
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94

xotie breed ol

Which of the following is notan ¢
cattle in Indin? _
Choose the most nppm,rrhm' answer from the
options given helow:
(A) Kankre)
(B Nolstein-Fresian
(C)  Jdersey
(D) Brown Swiss
(E)  Question not attempted
Areffes 3 @ v § D AR A Rl
EISER RS
fr=faRaw faeeal ¥ @ waifos Jug™ TR
(A) FHS
(B) Brewe=-sIsRaT
(©) ==
(D) WA faw
(E) TIORa W
Which of the following type of animal is
suggested minimum floor space for housing
purpose? |
Choose the most appropriate answer from the
options given below: '
(A) Adult Cows
(B) Adult BufTaloes
(C) Heifers
(D) Down Calvers
(E) Question not attempted
Frefafea & & fera w1y & fag mmﬁm
& =qFa a1 w1 &1 ged fean A @7
Frerferfiaa farrect # & warffers Juge 3w :
(A) agERTT
(B) 9aw W
(©) aﬁl’rm (CTFIN)
(D) TR ATI (T3 Faw)
(E) S1gdfta ws

OPQ-X12] 7]

20

t—l (r)

GUI’U]{U] [ Elfﬂl

/
i
Which one of (he followling, in n [r/q“ vinty,

90
privwn? /
Choose the most u/;/vmprluh' nnswer fram (he
aptiona given helow: ’/
(A)  Cutla catlo /
() Apts melliferta
¢y  Peneans monodon
(D) Muacrobrac Jrlum //mwl)( rudl
(1) Question not nttempted
Prefefierer 3t O Y0t sty et w5
Rrrferfizrar frret 3 @ wratfires 3age 77 7,
Sl (A) T T
00 ) et
D)o e
@ g e et

i 94

Which of the foflowing is not correct about
CARI-NIRBHEEK?
Choose the most appropriate answer from the
options given below:

It is a single coloured indigenous chicken.

E

This chicken is for cgg and meat

,\
=

production.
[tis a result of Indo-German collaboration

@

project,
Ficld evaluation done in Rojasthan and

C

Punjnb.
(E)  Question not attempted
frafafas % & &0 finffe & W F A1 =
KR
FrafoRea faweal § @ gaffds ogw swg:

(A) % G O et <t ol R

(B)  @g qiif ater o sfte (whe) Feame & R @)
(C)  uR WRA-wtr wea T qRESET 1 gftor 2|
(D) TS ST ey W A iR fehaT Tl
() argefa s
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98 Which of the following is truc about CARI

PRIYA?

Choose the most appropriate answer from the

options given below:

(A)  Commercially Brown Egg Laying Chicken

(B)  Commercially White Egg Laying Chicken

(C) Commercial Broiler Chicken

(D)  Dual Purposc Chicken

(E)  Question not attempted

frafafen § 8 S99 wu7 &0 far & aol e

g

N

Frefofed fawedi § § vaifyes sugew seeg:
(A) aTforiege WX 373 37 el gfitaf
(B) rorieae w%e 3 & arch gfifat

(C) aTivrsas daek gt
(D)  <TeX Jezd arelt ghral
(E) Sdiawd

dance associated?

options given below:

j (C) wgafauy
OPQ-x12) 7]

99  With which occasion is the Kachchhi Ghodi

Choose the most appropriate answer from the

(A) Holi (B) Navratra

(C) Teej (D) Marriage

(E)  Question not attempted

Frtfesfiaa e @ wrarifires Tug S0 H:
(A) et (B) FaUA

€ = (D) faare

P B

Uuruku

100 On which occasion do women of Rajasthan wear
“Lahariya Bhaant Ki Odhni?”

Choose the mast appropriate answcr from the

options given below:

(A) Diwali (B) Birthofa child

(C) Holi (D) Teej

()  Question not attempted

e 1 aferd fg ST g et i w

o, Fosfafaa frmed # & watfire 397w 59 T
O ow Rt () RgEeH
S @ (Dy =t

ﬂﬁ According to Mineral production in Rajasthan
during 2023-24, Rajasthan is the main mineral
producer in the country for:

Choose theymost appropriate answer from the
options given below:

(A) - Sillimanite

(B) Diamond

(C) Lead and Zinc Ore

(D) Vermiculite

| Tar:

L

(E)  Question not attempted

TG WS IR 2023-24 F FTER IOR T

TEYH, GRS # T [ IARES
il

A R e fareredt o @ waw Iuge IO

(A) fafeadamge

(B) SHHE/ERT

(C) e 3 SrEn
(D) affagenge
(B)  Sreia s

21 [ Contd...




102 Bhilwaracity of Rajasthan is known for

Chonsc“ the most appropriate answer (rom the
options given bclm\'{:;‘

(A)
(B)
©
(D)
(E)  Question not attempted

ey & vigaret Tl?t ¥ o S
&l o

P et vt v 3w
(A) TR IRl I

(B) wTak f‘azsma:r

(© o i i 33w

(D) HR= IO

(E) Idfmww i~

(5

=

Sclect the folk danceé of Rajasthan which is
i

‘popular for cmcrm:lz'@ent and raising socia
!

A
N
Choose the most appropriate answer from th

Citv of textilesand looms

i v .
Lead and Zind production
Gald and Silver production

Cement Indusfl:_\f

103
issues.

options given below:
(A)  Kuchipudi {“
(B) Garba )
(C) Kathputli damb:cj

. e
(D) Giddha N
(E) Question not dttémpied .
TR & 39 1 e w0 i )
S o 2 1 o 3 ferg e
Frefafae famedi & ¥ fraifus sugem g,
SO
(B) @ (4
© Fzgrehigm N
® frm
(E) omfawas
OPQ-X12 | ]

¥ o

<

104

al”

10

C

[ ]

1T &

ol Te

UT'uK

22

The number ol Gold Medals won by Indiy h'
1
Pamlympics 2034)\::[1! at Paris was:
)
options given bv{l‘(\}v:
LY

dreifirs, A 2023, T VT T A g e

- .
Choose the mn{I appropriafe answer frop, %

Y
¢l
£ dEn ot D,
ﬁq%ﬁaaﬁa?ﬁﬁﬁwﬁﬁmavgmmﬁ.
t‘&
(A) 13 &
(B) 6 ©
N
< 7 N
N
D)y 9 o

(E)  Question hict attempted ! T v

=

Who among the fflowing is the first Paralympix
G
to win two Paralympic Gold Medals?

|
Choose the mo&{:ppmprfaw answer from the

options given bdlalv:

o
(A)  Devendra Jhajhania
(B) Han’inderSingh
(C)  Sumit .-\n\iﬁ
C
(D) Nitesh Kdrnar
Y
(E) Quesuonpqtanemptqd

For 32 fow e et % ettt o
v e <y &2 |

N
(B)  wfa=x fiqpy)
© gy
(D) ﬁﬁww’l‘
(E)  ryef vy
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Sha Rapyavanthan Singh Rathore, sportsperson

Qe level?
Chaose the maost eppropriare answer from the

\‘g‘.‘;.\‘t‘..\‘ gi\‘\‘n below:

\)  Shoouny

(BY  Hookey

(W) Loag Jump

DY Vollevhall

(EY Question not attempted

¥ s o et S Reent § T .
FTEE TS SENE W ST wesH fF e

—_~ o~

~ - ~
mIGHIE 0 1[N

S

.- X
TS SIS SUGTE SW T

{A) :I_;—\—ll.:-_m:;l ‘\‘_{j\i?ﬂ
By T

(Y SIS

{Dh TSI

(B} :ﬁgn;\n =

Acconding to the census of 2011 which of the
following dismicts of Rajasthan had the lowest
] sexorauoe?

Choose the most appropriate answer from the

opions given below:

(A) Jalore (B) Dholpur
(©)  Pali (D) Sikar
(E)  Question not attempled

2011 F SET F STER OFEE & A A E e

~ e
TS 1 THET [ aSTd =5ady ar?

3
ﬂ:-—:f\nred faeeat ﬁ:}'wafﬁmsvg?ﬁm'gf{
(A) SI9 (B) u’ra'g'(

(C) ST (D) W

(E)  S{itd ¥

OrQ-x12) 7]

f

Guru

kul Taran

108

—
aw

av!

2L

ing districts of Rajasthan had

Which of the follow
atio, according 10 the census

the highest child sexr
ol 20117

1 the
Choose the maost appropriate answer from

options given below:

(A)  Jodhpur

(B)  Jaipur

(C) Jhalawar

(D) Banswara

(E)  Question not attempted

zbll@mﬂvm%mmmqﬂﬁﬁ?m
’rﬁmmﬁwﬁnﬁrﬁ%ﬁéﬁ?—m@
Freffas fraedt 3 & Aaifie 30g® LT
S

(B) @AY

(C) 9gEaEs:
(D) SEaTST
(E) Juitd ¥

According to the census of 2011, which district
of Rajasthan has the highest urban literacy rate?
Choose the most appropriate answer from the

options given below:

(A) Bammer

(B) Alwar

(C) Udaipur

(D) Kot

(E)  Question not attempted

2011 & VAT F AR, TR T FGias
TR WTETTET <X qre far @ um
Frafafes fasedi § & waifdes ogw s

Iy

(A) IR

(B) @AW

(C) 3@

(D) Fr

(E) Mﬁﬁﬁ?{ =
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Scanned with CamScanner



) wne ¢ ollowine famsouns Ratasiha-g
110 Some frogs use which special plant’s pocket®6f1=112 Who ameng the fellowing . 128

o o actor played very imporant role in Natonat
water for laying their cpgs? .-

‘ h [ r . - ~ -
00s AY prl')’" farte answer I'rum l“'».‘- ” Awand w "U“_L: .'“” Pd.l.‘l MMNnen Tl [N o
N\ thc mao! (JZI’ 1a v 2 3

) Cheose the nf.if.{: appropriate answer from the
options given belbM: s

g options given beJow:
(A) erm'lim!e" - op ‘ |
perivi kie - (\)  Goverdfish Asmani
(B) Muodagascegprerivinkle -l - R
S afin, — R
(&) A'n/un(-hm(/\),mmm " g (B)  Kiku “P 5"!

1\ N or Choudhary
(DY Cacrus o (C)  Karmmveée ¢

(r)e Question no attempied S (D) Sahabjade trian Ali Khan
i mﬁ@%mhl lfil‘ﬂlﬁémrffrz (E)  Questign-not attempted

_TS'Wﬁ'TET(ﬁ‘%“' "7 el F?'-‘—iﬁ-raﬁ {“ ﬂVlnxa't-:-un-n *s‘-—".:-'{‘T;?
ﬁn%f‘@aﬁm"}ﬂwwﬁ%mmm = 8§ =i ’G"“{F’;ﬁ' T e AR S ==
@ WC\J e e .

B Semrs _— ﬁfiﬁwfﬁﬁ?"??mmmaﬁ:

N mﬁ:’% P @ s e

(D) 7 : i (B) ﬁ'm

(E) 3afawg~ . ©) a”r‘aﬁ

N

111 Which one of thglfollomng bu!Tan brecdsw
mainly found fHNCalf Rearing Centre, Dau.

Jhalawar, Rajasx}{%

Choose the mostCuppropriate answer from lh
options given below: '

(A)  Bhadawarf™
(B) Jaszu'abad{{;J
(C)  Mehsana (N
(D) Murmah N

(D) ?nmraspar— SSIRETET
(BE) 3afads
N

Which of the following is not a reason for water
scarcin? o

: Choose the most appropriate answer from the
! options given 30\\':

ﬁ (A)  Space €Ranch

“  (B) Global g\%rming

(C)  Risein Population

(D) De "Ot\‘\mi(\n
(E)

(E) Question noyattempted -

fafafas ﬁéﬁﬁaﬁz@mg@m& \

Question not Attempted

9T 22, 2, » TSTEAT 5 T ref ﬁqnaﬁqmm-ﬁw—ﬂ ~
TS FROT 7§
F—mf’aﬁmﬁmqnwff‘wmmgw ﬁqﬁf@ﬁﬁﬁﬁ TR

(A) s O

(A) Sty 35w
(B) <o m . | ® e X
(©) wemmm oy AL

| © TEnf
(D) i N S,
(E) orafwus (E) -
OPQ-X12] [ SR

24
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mn reLions (ll l{.l wsthar J ‘lll aras a we "k”()\vn ’l“llp ()I gltll,lLIJ WCErc
i i 'I
\\ d k‘ ) l an I' l . I . !’

-shares its boundary with Pakistan? found in the villages o L

Choose the maost appropriate answer from the Choose the most npﬁ‘rlprialc answer from the

options given below: O J . [ i~

(A)Y  Churu (HS Bhilwara aplians pIven belwi

(C)  Bikaner m\j Pali () Goaand M‘"“"@“}"”‘

() Question not attempied (B) Karnataka and {(grnla

frafafad 8 aemam sea-m & aifsm & . 0 tesh

T S T ETE e (C) Rajasthan and Gitar Prades

Frfefaa et & watfire suge swog: (D) Assam and Nagaland

(A) 3?: ‘ (B).. SIS EIEY (E)  Question not a)’l\mplcd

(C)  EETR (). qrel ' Bty T
U Tl & Uh ?n‘—rrm:{[ ,W -

()  S¥afeE v O ]
o it Qe S A N

Freferfiaa faet 7 qﬁwiﬁmm’ﬁfﬂ

115 Which of the following fegions is located in the

gal

;ohulhcm mosl part of qun:}han" ."3 (A) i ST AN

oosc the moast appropriate answer from the e : NI &
options given below: = (B e
(A)  Ajmer © (B) Rajsamand s (© nmmaﬁtmm
(C) Churu (D’\“ Banswara - (D) Wﬁ(m

i
(E)  Question not aucmntcd - (E) BWHftﬁu 5T o
":rm’@anm-mmm?maﬁmzﬁwﬁm AW Q)
T I=Id &2 eS| N
F=TcEd fawedl 3 § HFIEH I9gH I 1 E 118  Pastoralists/shepherd€ptimarily depend on which
(A) ST (BN Treme e Of the following activjtigs for their livelihood?
© IF (D) =fEaTst p— , i
(E) — | Choose the most appropriate answer from the
SN
options given below: [™
116 In which of the followmgﬁ_asons Raikas follow st (A) Animal Husbar&y

cultivation practice in l.ht.g:l ife?  — (B) Fishing N
Choose the most apprup,njare answer from the [ ) N

] . N =t (C) Agriculture
oplions given below: o |- N
(A) Winter ‘:.," e, (D) Industrial worklN
(B)  Throughout the yedD ( / (E) Question not al%\plcd
(C)  Monsoon TRifeea ey {iﬁsﬁm TR q N
(D) Summer [~ Shf ¥ ﬁ:TQ 3 frm En
(C)  Question not attenipled Ca § A 4 e S
mmﬂwumﬁmﬁfmnu%«mn T &

: : N
m?,) . ..ﬁ\ - \.:
frfafaa fawed # mrtfilwmmﬁ?r p tm"f!o ¥
(A) wd "{ ad (ol Ri“ N oS
(C) HEgA (ID) o (©) ap) s s
(E)  wrqaf w4 () et wa

oro.-
PQ Xl; I D 25 _ ' [ Contd...




119 Match List-1 with List-I1 :

120

List-I List-11
Ornaments Wenring Part
a. Thussi 1. Finger
b. Borla 1. Far
c. Daamna 1. Neck
d. Jhaale IV. Hcead
=1 & s et 1w fram A
-1 il
e ETY T afT
a ‘?71:7 | L. Wﬁ
b, e . A
¢ TR . TTar
d @ v, fw

Choose the most appropriate answer from the
options given below:
=Tw feq 7T faeedl T § HaTfUs IUGeE IAT I

(A) a-IV.b-I,c-OI,d-1

(B) a-Lb-Oc-ILd-TV
(C) a-Lb-ILc-OLd-IV
D) a-NLb-TV,c-Ld-1I

(E)  Question not attempted / TAIA I

1

‘Mandana’ is a traditional folk art of :
Choose the most appropriate answer from the

options given below:

(A) Goa (B) Maharashtra
(C) Rajasthan (D) Kerala

(E)  Question not attempled

Frfafes fawed & @ watfirs sugm o g
(A) TN (B) wermrg

(C) TS E (D) F@H

(E) qufaug

OPQ-X12] [T]

UuiukKu!

121

—
v’
av’

Taras

I . |

26

o)

Vijaya Srambh (Chittorgarh, Rajasthan) is 3 ‘)'/':‘j
storicd pillar made of:
Choose the maost appropriate answer from the
aptions given helow: v
Only Black Stone

(A)

(3) Only [Led Stone

(C) Red Sandstone and White Marhle
(D) Red Marble and White Sandstone
()  Question not attempted

fopardy = 722 .
fresfafra frredl 4 @ gaius 299 277 717

(A) FAA AT TAT
(B) A AT T

(C) et ATe] ToAT AN Bz HTAET
(D) T IO, ATz AT 1AL

ST 14

In which month the festival of Gangaur is

(E)

organized?
Choose the most appropriate answer from the
options given below:

(A) Baisakh (B) Shravan

(C) Falgun (D} Chaitra

(E) Question not attempted

TN 3 RN 1 ATEEA 59 9 e R

Frafatan fasedt § § Aaifas I0gw I 95

(A) o (B) zmaw
(©) W (D) =
(E) STIf@u=

‘Talab-e-Shahi’ lake is located in which of the
following regions of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A)  Jaipur (B) Dholpur
(C) .~ Udaipur (D) Kot
(E)  Question not attempted

Frefafiaa & & fre & & aorerm 6 -
e Fie ferm

- Frefafen facmed § @ watfie soges 3w

(A)  SEqe (B) W
(C) 3IxEq (D) @Y
(E) raftusg
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:7,

AR Valoy st e o joint ventue of

WO STIN R g atanes

USRI e gepipeeae answer Hom the
“ 3

QTR e Nelo ¢ .
N

GO AR B wead Rasaahan
R\ }\w\\\\ A Chuan

N \
WY Reasdan and Qo

(Y Hanang and R.{YQ}Q&\:\
B Qasmen mae g \I";:{\‘\;‘I&\i
“&~~vﬁmﬁ*—a‘aﬁ:nxa Fs"tm‘t*m
== C}

- =~

~—\ \\« tqh\‘:‘:\w?'\mﬁv\’mmii:

LAY B3 Ry \\r\ \(\W
By e e % s........,‘\é
(=1 =N NSRS R nqu\

-~ — S
ot VST SR S
N
- s

R I O I R UTSLS =
S (N
= S=SAS IS N
< O
o

*Raest=iva Goal \lx\\\m is axsociated with:

Caroxe 2 moxr w rele answer from the H.—i
i ‘P Al &

| opZons given belows -

A} Amissy of Finance

(B} Minisy of Fi%im Animal Husbandry
and Dainving Q

() Miniszry of 2 \121\15 ,

(D) MinistryofWoendeg and Child Dev elopment

{E)  Question not an&p(c\i

TS T e e e

=y freel & ¥ maifee 3ae I
(A) framsEn (N

(B) T qrEs msﬁz {

5 wra? g QT HATer

(€) T UHURE ATy

(D) =HieeTwE g g A{; Q1Y

B) IgEfays (o

td
| 1 '9-|'| A \hopkucpu purchas
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M < 19 r e S w ﬂddcd
‘.t‘ \\-h 1| i X lh(‘ l(‘| " l\llll\lx‘ \\‘hl\h ‘ll)lll(l l
J s (5 oI \ CX! C“

o 202
divisible by 3, <‘nml o!

NNRAER mu'! WA wirm A S, e
RICIRIRILE IR esﬁr o it rpf e 712

(\) 8 ‘j k)2

<y 2 ; (D) 7

(1) Question not. .ulcmptcd / 313"#’7‘ aa

lg What is the ‘lm.\”é\f five digit nurmber which is

Cﬁcvull\ divigible by f() 20 and 24?
gt it 6 wad O '@ S 16, 20 T 24 F

J&h o 1
"'ﬁ(.\) w00

0 (B) 10080
:(C) 10160 {73 (D) 10800
r"" (E)  Question not attempted / 7T 7%
[‘\
t% Determine the ma%{iinum possible fength of the

planks that can be ¢uj from three pieces of timber

'F measuring 4.2 m, !H;) m and 6 3 m, all of which

should be of ;qual{lenuh
it e = T AR At
.—h 270, .9 3, 3 6.3 ¥ 1 vt AR TSt

\fmmmé%m”mm%

Pt A) 63 em @Y (B) 70 o (B
L (O 42em il ’f (D) 56 cm (FHhy
et () Question not'uttempted / SFRHE war
e ™
es some apples at 41 for

T100. How many apples for T 60 should be sold
10 pain 64842 |
T R 06 8 T 100 ¥ 41 F W & @iy
645 T T 3 R 0 T 60 Frrd vy
e l,‘:]
(A) N
(©) } N 13
(E ) Question not attempted / St wa

[ Contd...
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SR 3 S,

neoy
130 On selling on aticle for T 200N shnl‘k“c

cams a profil of 157, What is his Prt""

pereentage ilhe sells the game artic e I

(A) 10% profil &
(B) 2% loss

(C) 5% profit

(D) 7% loss

() Question not attempted

T T T 230 § A T CH FAEH | "

Y AT 21 AR T 3@ awg W T 210 3 21t e

A FET ey ar e i & ¥
(A) 10% ™

(B) 2% JFEH

(C) 5%em™

D) 7% JFEH

(E) IEf@ss

131
customers and still gains 20%. What is the marKe

price of the article whose cost price is T 4607

T HER ¥ 37T WEH F 8% I e & 3
7 20% mammnmaicgrﬂaimqga(
& e wa ger T 460 27

(A) T580 (B) <550

() T600 (D) 660

(E)  Question not attempted / 3w 7%

Find a single discount equivalent lo successive
discounts of 10%, 20% and 25%.

10%, 20%mzs%ﬁmw%wm§z
I Fiferg

(A) 46% (B) 48%

©) 5% (D) 54%

(E)  Question not attempted / Bﬂﬂ'ﬂa s

orQ-x1z] 7]

132

‘Ii“'I'I]

BINEI NG

(RN

A shopkeeper gives a discount of 8% to [iSsfs

28

(A
(©

Jeetion between two candidates, ¢y, !
1 ¢ |

n
r votes nnd 120 votes were |

N Jdid not cast thei

vote
1e winner gets 75% of lhe |

nretd mvnlul I

lee ‘
( ns by n margin of 1800 voley, :

valid voles and wi
her of voters in the voting lis,

then (ind the num |
2y geafiardt # A7 A i 20% e Hy
:;vma?zmﬁgrvnaﬂ?t 1 20 7tz ST T Fr oy |

o vy A A 75% frerar ® 3t a7 1809
M?ﬁmﬂmmg,a}m@ﬁm”
£y et A AT |
4650 (B)y 4680
4500 (D) 4590

Question not attempted / srjafta’ga

(A)
(€)
()

On simple interest a certain sum becomes T 9300

in 3 years and ¥ 10, 500 in 5 years. The principal .

sum (in.J) is:

ameeor T e ity 3 AW §3 9300 3%
sqEtE T 10,500 AT A A qF AT XM E:

(A) 7500 (B) 7800
() 7000 (D) 7200
(E)  Question not attempted / AT ¥5

In how many years a certain sum of money will
become four times of itself on simple interest ata
rate of 20% per annum?

15 Years (B) 20 Years

10 Years (D) 12 Years

(E)  Question not attempted

feveet ¥ v fafir ey 20% o s

mﬁﬂﬁmiﬁwwg}m)
(A) 15T @ 204
© towm (D) 129d
() refe wsy
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(a6 Which of the Tollowing National parks is situnted

in Rujosthan?

Choose the maost appropriare aswer from the

options given below:

(A)  Keoladey (M) Kazirangn

() Bandipur (D) Sant Ghati

(1) Question not attempted
ﬁﬂfa%ﬁﬁfx?\amn@amwmﬁﬁw
itY)

Frerferfas faeredl & Q waifdw IUgw IWHH:
(A)  waeed 3y TS

(C) WAL (D) EagrRl

() SYFARE W

In 1800 A.D.,
Raojasthan region Rajputana was
Choose the most appropriate answer from the

options given below:

{A) Hackent

(B) Allchin

(C) George Thomas

(D) James Tod

(E) Question not attempted

1800 $qal § 31151 & TSTEAH 1 TSIYAAT e a1t
wag FATh A ,
frefafas fasedl § & waffas ugm s g4:
(A) e

(B) wrafa ‘
(C) <t 41|

(D) S TE

(E) rgaftayy

OPQ-X12] 7]

the first person to call present jo.

e

jtaram

t was led by sadhu S

138 Which movemen

Nas?

] om the
Choose the maost appropriate answer [T

aptions given helow:

(A)  Bhagat

(B3) Non-cooperation

(C) Bijolia

(D) Shckhawali

(If)  Question not attempted

Ty w3 A o sxidTer 1 g [RAT?

ﬁﬂ%ﬁgﬂﬁﬂ?ﬁﬁﬁmmmﬂ:

hrj’“ A
* B) wwedrt
-Cﬁm ettt

m In western Rajasthan hot dry and dusty winds
F‘ start blowing in summers which are known as
Choose the most appropriate answer from the
prd optlions given below:

Loo '

Monsoon winds

Kaal Vaishakh

'_J (D) Mavath
- (E)  Question not attempted
afépdft Trererm # Aty g F M- A 9
 Freaferfiaa Rt & & warfe Sugw S

(A)
(B) W ¢
(C) e "
(D) WE3
() srgalfta v
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14 : -

0 Which of the following river in Rajasthan is not
associated with the Bay of Bengal drainage
system?

Choose the mast appropriare answer from the
options given below!

(A) Banas N (B)  DBanganga
(€©) Chambal C \‘(D) Luni
(E)  Question not grtempted

Tore 1 e o @ i T s Y @ srvare
FFAaRm iy O

frafafea et § § gaffare sogw secT:
(A) A ~B) O
(C) <&d D)
(E) aRa s
" 0o
O
141 Which of the follox\gng animal product contains
the highest amount {&sjnutrients) of protein?
Choose the most afipropriate answer from the
‘ options given below:
(A) Fish  [~B) Meat
(C) Milk (Cow) C\(D) Egg
(E) Quesnon not g&mpted ]
Frefafas @ ﬁw?{;mﬁﬁ?ﬁ?ﬁm
T (% G ) B
Frafataa faee & égaﬁwmmaﬁ
(A) =t Cp) uER)
(© = D) =
(E) JFFd@ss [~
: Cd
142  Which of the following animal product contains

the highest amount
Choose the most appropriate answer {rom the
oplions given bclow;fv,z

(A) Egg (B) Meat

(C) Fish (D) Milk (Cow)

(E)  Question not ?npmptcd '

frfafaa & @ fagay s § a@ i gaffus

‘gjof nutrients) of fat?

HTAT (% raeh ae) Exdlig?

Frefafas freedl & @ affis sage sag:
(A)  sfer Clmy o ofey

(C) wweh C‘J(D) < ()

(B) wpf@wa -
0PQ-X12] [T]

30

143

- -'l such a wa

N’

Which one of the following ltalian honey pee

varicty is associated with increase in yicld of
l‘\
honey?

o] far
Choose the most @ppropriafe answer from the

options given belaiv|

¢l (B) A florae

. cerand
<) A mellifera,| (D)
() Question ndt-atempted

m%hanﬁg&%mmmﬁﬁﬁwmm
Ldmﬁémrwﬁ?ﬂmﬁm%ﬂ
Fﬁﬁﬂf”‘rftrdﬁrm HMWWW?:{

Bl wamm o) ®) T

S © . AAHT C‘; (D) T IrEwE
= (E) aﬁmwm
=i

s
4+ The ratio of the present ages of Pand Qis5:7.1f
Q is 4 years oldenan P, then what will be the

(A)

A. dorsata

-\ ratio of their ages. er 4 years?

p 37l Q &t TN G &1 1A 5 : 7 1 I Q. P
F4adaeTe, €r4‘5‘éaﬁm@r3ﬂvmmm

'_](A) 7:9 O @B 4:5
Y%
. (C) 3:4 (D) §:11

—
met (E)  Question n&\t(emptcd/ﬂﬂﬁﬁﬂ?ﬂ
: O

O
]Aﬁ_] A sum of T 2400 {Ndwndcd between A and B is
y that V\IQT As of B's
share are equal. Thdshare of B is:

T 2400 Y A 3 B3 ofie 38 wewTC ser ST & £
A 5 feem, B % 3 foed S 1 3 e

uallo

share and

e m~
(A) T 480 (c\Dl
) Tsoo O
© 2960 RJ'
(D) Tdd0
(E)  Question n@ttcmpted / 3l g
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149 Who was the first woman from Rajasthan to be

146 What number should be subtracted  from each of
numbers 6, 8, 12 and 20, so that the resulting arrested  during the  freedom - movement in
numbers are in praportion? Rajasthan?
6. 8, 12 3 20 v N A a3l tien werd ar) Choose (he most appropriate answer from the
fe, fSeR witomdt vimd g 3 options given below:
(A3 (A) Janki Dcvi Pandey
@) 1 (3)  Anjna Devi Ch(_)utlhﬂr}’
© 2 (€)  Sita Devi
R (D)  Durgavati Devi
() Question not attempted / JTARE w4 - (E) Question not attempted
147 Where is the ‘Tripura Sundari Temple’ in Cﬁ T & T Jidte & Zd firerTe € et
Rajasthan located? b,[} TS smqqﬁmzs’ﬁ el
Choose the most appropriate answer from the m ﬁmw&ﬁmmmﬂ%
options given below: : (A) EICCIRCIRES
(A)  Sikar (B) Bikaner — ® e < =l
(C) Banswara (D) Churu ()
(E)  Question not attempted — (D) | E"ﬁ'ﬂ?ﬁ%ﬁ
P gt " Tere 9 e fera @7 (E) 3gafe ¥
freferaa famed 3 § Faifers 3ug® SR I
(A) H= (B) & 150 Which constituent of Henna dye forms a red
(C) dEaeT o) IF p==+ colored compound upon exposure to air or
(E) 313?{1’{?{\1&( d sunlight?
"1™ . Choose the most appropriate answer from the
148  Gogaji's (a folk deity in Rajasthan) father’s name [P '
was: ' ;‘ options given below:
Choose the most appropriate answer from the ll—i (A)  Lawsone
options given below: :JI (B) Ammonium Chloride
(A) AranSingh  (B) Surjan Singh b (€)  Quinone
(C) Bachehal Singh (D) Zewar Singh (D) Ncphll.\oquinonc
(E)  Question not attempted (E)  Question not attempted
wiTS CorereaT e i )  frarsht 1 A FEFT 76k T -1 STeeeh ANy 1§ 6 5wt
ar. | W ST T AT 7 o T s ¥
Freifeafian fadedi & & wafirs soqw st T Freferftan faedt # & waifars soges s .
(A) ot fae (B3) g faw (A) @i (B) iy FREs
€) =vew fi (D) s fue ©) faim (D) AN
(B) wyqaftaua (B)  orgafw wa
OPQ-x12) D © 31 | [ Contd...
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